

# ON UNIFORM NÖRLUND SUMMABILITY OF FOURIER SERIES

by ASHOK SAXENA,\* *University of Allahabad, Allahabad*

(Communicated by F. C. Auluck, F.N.I.)

(Received December 9, 1965)

In this paper we introduce a new concept of summability, i.e. Uniform Nörlund Summability, and establish two theorems on it of the Fourier series corresponding to a function  $f(x)$ , periodic with period  $2\pi$  and integrable ( $L$ ) over  $(-\pi, \pi)$ .

1. Let the Fourier series corresponding to a function  $f(x)$ , periodic with period  $2\pi$  and integrable ( $L$ ), be

$$\frac{1}{2}a_0 + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx). \quad \dots \quad (1.1)$$

Let  $S_n(x)$  denote the partial sum of the series (1.1). We shall use the following notations:

$$\phi(t) = \phi(x, t) = f(x+t) + f(x-t) - 2S,$$

$$\Phi(t) = \int_0^t |\phi(u)| du$$

$$\tau = \left[ \frac{1}{t} \right],$$

where  $[\lambda]$  denotes the integral part of  $\lambda$ .

2. The concept of uniform Harmonic summability as defined by the author (Saxena, 1965) earlier is as follows:

Let

$$u_0(x) + u_1(x) + u_2(x) + \dots \quad \dots \quad (2.1)$$

be any infinite series, and

$$U_\nu(x) = u_0(x) + u_1(x) + u_2(x) + \dots + u_\nu(x).$$

If there exists a function  $U = U(x)$  such that

$$\frac{1}{\log n} \sum_{k=0}^n \frac{1}{k+1} \{U_{n-k}(x) - U\} = o(1)$$

uniformly in a set  $E$  in which  $U = U(x)$  is bounded, then we shall say that the series (2.1) is summable by Harmonic means uniformly in  $E$  to the sum  $U$ .

---

\* Present address : Department of Mathematics, Regional Engineering College, Kurukshetra.

3. Let  $\Sigma a_n$  be a given infinite series with the sequence of partial sums  $\{S_n\}$ . Let  $\{p_n\}$  be a sequence of constants, real or complex, and let us write

$$P_n = p_0 + p_1 + p_2 + \dots + p_n.$$

The sequence-to-sequence transformation

$$t_n = \sum_{\nu=0}^n \frac{p_{n-\nu} S_\nu}{P_n} = \sum_{\nu=0}^n \frac{p_\nu S_{n-\nu}}{P_n} \quad (P_n \neq 0) \quad \dots \quad \dots \quad (3.1)$$

defines the sequence  $\{t_n\}$  of Nörlund means (Nörlund 1919) of the sequence  $\{S_n\}$ , generated by the sequence of coefficients  $\{p_n\}$ . The series  $\Sigma a_n$  is said to be summable  $(N, p_n)$  to the sum  $s$  if  $\lim_{n \rightarrow \infty} t_n$  exists and equals  $s$ .

The conditions for regularity of the method of summability  $(N, p_n)$  defined by (3.1) are

$$\lim_{n \rightarrow \infty} \frac{p_n}{P_n} = 0 \quad \dots \quad \dots \quad \dots \quad \dots \quad (3.2)$$

and

$$\sum_{k=0}^n |p_k| = O(|P_n|), \text{ as } n \rightarrow \infty. \quad \dots \quad \dots \quad \dots \quad (3.3)$$

4. The object of this paper is to introduce the concept of uniform Nörlund summability, which we define as follows :

Let

$$u_0(x) + u_1(x) + \dots \quad \dots \quad \dots \quad \dots \quad \dots \quad (4.1)$$

be any infinite series and

$$U_\nu(x) = u_0(x) + \dots + u_\nu(x).$$

Let  $\{p_n\}$  be a sequence of constants, real or complex, and let us write

$$P_n = p_0 + p_1 + \dots + p_n.$$

If there exists a function  $U = U(x)$  such that

$$\frac{1}{P_n} \sum_{\nu=0}^n p_\nu \{U_{n-\nu}(x) - U\} = o(1), \quad \dots \quad \dots \quad \dots \quad (4.2)$$

uniformly in a set  $E$  in which  $U = U(x)$  is bounded, then we shall say that the series (4.1) is summable  $(N, p_n)$  uniformly in  $E$  to the sum  $U$ .

The conditions for regularity of the method of uniform  $(N, p_n)$  summability defined by (4.2) are the same as they are in the case of ordinary  $(N, p_n)$  summability because they are independent of  $x$ .

In this paper we take  $\{p_n\}$  to be a real, non-negative, monotonic non-increasing sequence, such that  $P_n \rightarrow \infty$ , as  $n \rightarrow \infty$ , so that the regularity conditions (3.2) and (3.3) are automatically satisfied.

5. In 1965 the author (Saxena 1965) established the following theorem :

**THEOREM A.** If

$$\Phi(t) = o(t/\log(1/t)) \quad \dots \quad (5.1)$$

uniformly in a set  $E$  in which  $S = S(x)$  is bounded, as  $t \rightarrow +0$ , then the series (1.1) is summable by Harmonic means uniformly in  $E$  to the sum  $S$ .

In the present paper we generalize theorem A by replacing the special sequence of coefficients  $p_n = \frac{1}{n+1}$  by a more general sequence of coefficients.

6. We establish the following theorems :

*Theorem 1.* If  $\alpha(t)$  denotes a function of  $t$ ,  $\alpha(t)$  and  $\frac{t}{\alpha(t)}$  ultimately increase steadily with  $t$ ,

$$\log n = O(\alpha(P_n)), \text{ as } n \rightarrow \infty; \quad \dots \quad (6.1)$$

and

$$\Phi(t) = o(t/\alpha(P_\tau)), \quad \dots \quad (6.2)$$

uniformly in a set  $E$  in which  $S = S(x)$  is bounded, as  $t \rightarrow +0$ , then the series (1.1) is summable  $(N, p_n)$  uniformly in  $E$  to the sum  $S$ .

*Theorem 2.* If  $\alpha(t)$  stands for a function of  $t$  and ultimately increases steadily with  $t$ ,

$$\int_{\frac{1}{n}}^{\delta} \frac{P_\tau}{\alpha(P_\tau)} \cdot \frac{1}{t} dt = O(P_n), \text{ as } n \rightarrow \infty; \quad \dots \quad (6.3)$$

and

$$\Phi(t) = o(t/\alpha(P_\tau)), \quad \dots \quad (6.4)$$

uniformly in a set  $E$  in which  $S = S(x)$  is bounded, as  $t \rightarrow +0$ , then the series (1.1) is summable  $(N, p_n)$  uniformly in  $E$  to the sum  $S$ .

7. In order to prove these theorems we require the following lemmas :

*Lemma 1 (McFadden, 1942):* If  $p_n$  is non-negative and non-increasing, then, for  $0 \leq a < b \leq \infty$ ,  $0 \leq t \leq \pi$ , and any  $n$ ,

$$\left| \sum_{k=a}^b p_k e^{i(n-k)t} \right| < K P_\tau,$$

where  $K$  is an absolute constant and  $P_m = p_0 + p_1 + \dots + p_m$ .

*Lemma 2 (Hardy and Rogosinski, 1944):* Suppose that  $f$  and  $g$  have period  $2\pi$ ; that  $f$  is  $L$  and  $g$  is  $V$ ; that  $\lambda$  and  $\alpha$  are real; and that  $-\pi < a \leq b < \pi$ . Then

$$J(a, b, \alpha, \lambda) = \int_a^b f(\theta + \alpha) g(\theta) e^{-\lambda \theta} d\theta \rightarrow 0$$

uniformly in  $a, b$  and  $\alpha$ , when  $|\lambda| \rightarrow \infty$ .

8. *Proof of Theorem 1.* It is well known that

$$\begin{aligned}
 S_n(x) - S &= \frac{1}{2\pi} \int_0^\pi \phi(t) \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\
 &= \frac{1}{2\pi} \left( \int_0^\delta + \int_\delta^\pi \right) \phi(t) \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\
 &= \frac{1}{2\pi} \int_0^\delta \phi(t) \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\
 &\quad + \frac{1}{2\pi} \int_\delta^\pi f(x+t) \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\
 &\quad + \frac{1}{2\pi} \int_\delta^\pi f(x-t) \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\
 &\quad - \frac{S}{\pi} \int_\delta^\pi \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\
 &= \frac{1}{2\pi} \int_0^\delta \phi(t) \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\
 &\quad + L_1 + L_2 + L_3, \text{ say.} \quad \dots \quad \dots \quad \dots \quad (8.1)
 \end{aligned}$$

Now

$$L_1 = o(1), \text{ uniformly in } E \text{ (by Lemma 2)} \quad \dots \quad \dots \quad (8.2)$$

$$\begin{aligned}
 L_2 &= \frac{1}{2\pi} \int_\delta^\pi f(x-t) \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\
 &= -\frac{1}{2\pi} \int_{-\delta}^{-\pi} f(x+t) \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\
 &= \frac{1}{2\pi} \int_{-\pi}^{-\delta} f(x+t) \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\
 &= o(1), \text{ uniformly in } E \text{ (by Lemma 2)} \quad \dots \quad \dots \quad (8.3)
 \end{aligned}$$

And

$$L_3 = -\frac{S}{\pi} \int_\delta^\pi \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt$$

or

$$\begin{aligned}
 |L_3| &= \left| \frac{S}{\pi} \right| \left| \int_\delta^\pi \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \right| \\
 &< \frac{M}{\pi} \left| \int_\delta^\pi \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \right|
 \end{aligned}$$

since  $|S| = |S(x)| < M$  for every  $x \in E$ , where  $M$  is some constant.

Therefore

$$|L_3| = o(1), \text{ uniformly in } E \text{ (by Lemma 2).}$$

Hence

$$L_3 = o(1), \text{ uniformly in } E. \quad \dots \quad \dots \quad \dots \quad \dots \quad (8.4)$$

Now from (8.1), (8.2), (8.3) and (8.4), we have

$$S_n(x) - S = \frac{1}{2\pi} \int_0^\delta \phi(t) \frac{\sin(n + \frac{1}{2})t}{\sin \frac{1}{2}t} dt + o(1), \text{ uniformly in } E.$$

And therefore

$$\begin{aligned} \frac{1}{P_n} \sum_{\nu=0}^n p_\nu \{S_{n-\nu}(x) - S\} &= \frac{1}{P_n} \sum_{\nu=0}^n p_\nu \frac{1}{2\pi} \int_0^\delta \phi(t) \frac{\sin(n - \nu + \frac{1}{2})t}{\sin \frac{1}{2}t} dt \\ &\quad + o(1), \text{ uniformly in } E, \\ &= \int_0^\delta \phi(t) \frac{1}{2\pi P_n} \left\{ \sum_{\nu=0}^n p_\nu \frac{\sin(n - \nu + \frac{1}{2})t}{\sin \frac{1}{2}t} \right\} dt + o(1), \text{ uniformly in } E, \\ &= \int_0^\delta \phi(t) \mu_n(t) dt + o(1), \text{ uniformly in } E, \end{aligned}$$

where

$$\begin{aligned} \mu_n(t) &= \frac{1}{2\pi P_n} \left\{ \sum_{\nu=0}^n p_\nu \frac{\sin(n - \nu + \frac{1}{2})t}{\sin \frac{1}{2}t} \right\} \\ &= \left( \int_0^{\frac{1}{n}} + \int_{\frac{1}{n}}^\delta \right) \phi(t) \mu_n(t) dt + o(1), \text{ uniformly in } E, \\ &= F_1(x, n) + F_2(x, n) + o(1), \text{ uniformly in } E, \text{ say.} \quad \dots \quad \dots \quad \dots \quad (8.5) \end{aligned}$$

Now

$$\begin{aligned} F_1(x, n) &= \int_0^{\frac{1}{n}} \phi(t) \mu_n(t) dt \\ &= O \left( \int_0^{\frac{1}{n}} |\phi(t)| |\mu_n(t)| dt \right) \\ &= O \left( n \int_0^{\frac{1}{n}} |\phi(t)| dt \right) \\ &\quad \text{since } \mu_n(t) = O(n), \text{ as } n \rightarrow \infty, \text{ uniformly in } 0 < t < \frac{1}{n} \text{ (Pati, 1961, p. 88)} \\ &= O \left( n \cdot \frac{n^{-1}}{\alpha(P_n)} \right), \text{ uniformly in } E, \\ &= O \left( \frac{1}{\alpha(P_n)} \right), \text{ uniformly in } E, \\ &= o(1), \text{ uniformly in } E \text{ (by hypothesis).} \quad \dots \quad \dots \quad \dots \quad \dots \quad (8.6) \end{aligned}$$

Again

$$\begin{aligned} F_2(x, n) &= \int_{\frac{1}{n}}^{\delta} \phi(t) \mu_n(t) dt \\ &= O\left(\int_{\frac{1}{n}}^{\delta} |\phi(t)| |\mu_n(t)| dt\right) \\ &= O\left(\frac{1}{P_n} \int_{\frac{1}{n}}^{\delta} |\phi(t)| \frac{P_\tau}{t} dt\right) \end{aligned}$$

$$\text{since, for } \frac{1}{n} \leq t \leq \delta < \pi, \mu_n(t) = O\left(\frac{P_\tau}{P_n t}\right)^*.$$

Now

$$\begin{aligned} \frac{1}{P_n} \int_{\frac{1}{n}}^{\delta} |\phi(t)| \frac{P_\tau}{t} dt &= \frac{1}{P_n} \left[ \Phi(t) \frac{P_\tau}{t} \right]_{\frac{1}{n}}^{\delta} + \frac{1}{P_n} \int_{\frac{1}{n}}^{\delta} \Phi(t) \frac{P_\tau}{t^2} dt + o(1), \text{ uniformly in } E, \\ &= \left\{ O\left(\frac{1}{P_n}\right) + o\left(\frac{1}{\alpha(P_n)}\right) + o\left(\frac{1}{P_n} \int_{\frac{1}{n}}^{\delta} \frac{P_\tau}{\alpha(P_\tau)} \cdot \frac{1}{t} dt\right) + o(1) \right\}, \text{ uniformly in } E, \\ &= \left\{ o(1) + o\left(\frac{1}{P_n} \cdot \frac{P_n}{\alpha(P_n)} \int_{\frac{1}{n}}^{\delta} \frac{1}{t} dt\right) \right\}, \text{ uniformly in } E, \end{aligned}$$

by the hypothesis that  $\alpha(t)$  and  $t/\alpha(t)$  ultimately increase steadily with  $t$ ,

$$\begin{aligned} &= \left\{ o(1) + o\left(\frac{1}{\alpha(P_n)} \int_{\frac{1}{n}}^{\delta} \frac{1}{t} dt\right) \right\}, \text{ uniformly in } E, \\ &= \left\{ o(1) + o\left(\frac{1}{\alpha(P_n)}\right) + o\left(\frac{\log n}{\alpha(P_n)}\right) \right\}, \text{ uniformly in } E, \\ &= o(1), \text{ uniformly in } E \text{ (by hypothesis)}. \end{aligned}$$

Hence

$$F_2(x, n) = o(1), \text{ uniformly in } E. \quad \dots \dots \dots (8.7)$$

Now from (8.5), (8.6) and (8.7) the theorem follows.

*Proof of Theorem 2.* The proof of theorem 2 runs parallel to the proof of theorem 1.

#### ACKNOWLEDGEMENTS

The author takes this opportunity of expressing his gratitude to Dr. S. R. Sinha and Dr. S. N. Bhatt for their kind interest, advice and generous encouragement in the preparation of this paper.

---

\* By a technique similar to that followed in Pati (1961, p. 89) and by Lemma 1.

## REFERENCES

- Hardy, G. H., and Rogosinski, W. W. (1944). Fourier series. (*Cambridge Tracts in Mathematics and Mathematical Physics, No. 38*), p. 24.
- McFadden, Leonard (1942). Absolute Nörlund summability. *Duke math. J.*, **9**, 168–207.
- Nörlund, N. E. (1919). 'Sur une application des fonctions permutables'. *Lunds Univ. Årsskrift* (2), **16**, No. 3, 1–10.
- Pati, T. (1961). A generalization of a theorem of Iyengar on the Harmonic summability of Fourier series. *Indian J. Math.*, **3**, 85–90.
- Saxena, Ashok (1965). On uniform Harmonic summability of Fourier series and its conjugate series. *Proc. natn. Inst. Sci. India*, **31**, 303–310.